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QUESTION 1

See the following specification: 

How many test situations are produced when the coverage type decision points condition/decision coverage is used? 

A. 2 

B. 3 

C. 4 

D. 8 

Correct Answer: C 

 

QUESTION 2

What is the aim of the activity `assessing the test basis\\'? 

A. To determine the risk of the various system components 

B. To select the most suitable test design techniques 

C. To determine whether the delivered system components can be tested in a useful manner 

D. To establish the testability of the test basis 

Correct Answer: D 

 

 

QUESTION 3

See the illustration below: 

To test a registration application for a weekend trip, logical test cases must be created in accordance with the Data
Combination Test. In addition, it has been agreed that less depth testing must be performed. One data pair has been
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defined that must be fully tested in combination: 

-car - attraction 

Eight test cases are designed using a classification tree. 

Where must the \\'bullets\\' for test case 4 be placed? 

A. Saturday, fun park, 2nd 

B. Sunday, museum, station 

C. Sunday, fun park, station 

Correct Answer: C 

 

QUESTION 4

What can be avoided by consolidating separate checklists into one checklist for assessing a test basis? 

A. finding the same test basis defect more often 

B. using a particular checklist in both the acceptance and system tests 

C. that every project compiles its own checklist 

D. duplicating work on identical parts of the test basis during the evaluation 

Correct Answer: D 
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QUESTION 5

What is not an element of a test case in relation to the system behavior to be tested? 

A. action 

B. defect 

C. initial situation 

D. predicted result 

Correct Answer: B 
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